SSX&n
SA2 SE(SUHBLA/SY - 52)
s (Etel: F2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
2t 12,590,417 11,606,114 984,303
= 58,600
= 1,964,185
Al 10,567,632
2 Re(=8igrt/sYy - s&) 4,344,148 3,637,923 706,225
= 55,500
& 642,600
Al 3,646,048
Sg= 4,344,148 3,637,923 706,225
= 55,500
= 642,600
Al 3,646,048
stz #E50 450,688 460,152 19,464
101 12 21,298 30,708 29,410
04 JIZtH22 XS 2E= 21,298 30,708 29,410
OOHet == AtLsIt HIE2F 2124H|
78,8803 x2H*135& 21,298
201 Let23| 3,000 3,100 2100
01 Al 22| 3,000 3,100 2100
Osttg =258 822 IH & 237
3,000,000 14! 3,000
301 Et2AS 300,000 300,000 0
14 J0IEt2d= 300,000 300,000
Otld sttt =E8ds AId
300,000,000 *14| 300,000
307 2I2+0| ™ 126,390 126,344 46
02 I B AAEE X 126,390 126,344 46
Ot==Zs0t JITHH(EIAES, FHMEX]) X
(2X8 50%)
249,592,000 & *141%50/100 124,796
OUet AttrE SESIt HZEY EXI(EXE 70%)
33,0002 *697Hx70/100 1,594
SHEMA 7FSHH =29 1,325,225 341,925 983,300
201 28t=Ed| 18,225 14,925 3,300
01 At22tel] 5,300 2,000 3,300
OsttE RSAIE 22| & S2SHH S
1,300,000& 14! 1,300
ORI0ArR] Aloj9iRis| A S
100,000 %10 %13 1,000
OgFst=7SHH N2F1) dEIIH EXISA
&3 |t 249
3,000,000 14 3,000
3288l 12,925 12,925 0
SFsa==SHHE XA BiES] & E010 &
12,925




2N RSXY
HI: SAE RE(STHLSN/SY - 5E)
Pl /S8 (crol: ®al)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
—XIAXE BHEf2] ¢
6,765,000 14! 6,765
— XA & EFOIOf 7L
418,000 %107H 4,180
—XIAX S Etolof 2
198,000 % 10K 1,980
307 2I2H0| & 25,000 20,000 5,000
02 QIFAAAIIE R 25,000 20,000 5,000
OYFSASRSHE DA ZIIMEHI(1-MCP) X
(EXE 50%) 40,00024%1, 250 m *50% 25,000
401 A& HIL S 0HY] 1,240,000 265,000 975,000
01 Al&H] 1,240,000 265,000 975,000
OYFSASREMH AL
240,000,000 * 14! 240,000
OYFSASRENH M2 D HEUE HX A S
1,000,000, 00024 *14! 1,000,000
405 KHAE SH 42,000 42,000
01 AL 2EF SH 42,000 42,000
OYFSAMSREMH TRIE Y
70,00024+6007H 42,000
=AZ20BE X 859,500 803, 100 56,400
307 212+0|& 859,500 803, 100 56,400
02 DIZFHAIAIIE X 859,500 803, 100 56,400
OYFEAZ 1S BHE TZME A 859,500
—T2)0|Y HESME E5EHS XF(EXS
) 5,00021%100, 0004t Kt 500,000
—T20|Y HEsAME L PBEAM KR(EXE
50%) 87,500
- I2I01Y EEH(EES 50%)
2,00024%20,0000H*50/100 20,000
-PBEETH(EES 50%)
1,50021%90, 0000H*50/ 100 67,500
—HE=AS AEN USHKR(SRH| 55 ER)
(BES 50%)
800,000 47 EH|* 1002 %50/ 100 160,000
—AZ=A2 SE0PIE L SUHANEINE,
3, CIXRIHE S JHIXA(BXZE 80%)
2,500,000 %563|x80/100 112,000
SAS242|(GAP) Q15 XY L RIAXIEAl 22 258,400 158,400 100,000
201 L2 A 1,400 1,400 0
01 AF222IHI 1,400 1,400 0
OGP L 2| £ EE2S HE
2,000 %3502 *23] 1,400
301 YB3 257,000 157,000 100,000
14 J|EI2 A3 257,000 157,000 100,000
CGAP 21E =2 X 70,00020%10024 7,000




SN FSAEL
HY: A2 SE(SUHYL/ S - SE)
Pl /S8 (crol: ®al)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OGAP &= MIE - X - J13H| XIZ(EX8 50%)
500,000,000 * 141%50% 250,000
sSit2 75243 A3 50,000 50,000 0
301 Let2d= 50,000 50,000
14 JIEt2d= 50,000 50,000
Otetdsitz RSdd=s N
50,000,000 *14| 50,000
(=)38HEd] 13,000 45,400 32,400
= 6,500
= 1,950
Al 4,550
307 212t01 ™ 13,000 45,400 A32,400
= 6,500
& 1,950
Al 4,550
02 I B AP E X 13,000 45,400 232,400
OsdttE sl A&
26,000,000 x141%50/100 13,000
= 6,500
& 1,950
Al 4,550
(RGPt g =A X 98,000 108,000 10,000
= 49,000
& 14,700
Al 34,300
201 et23| 65,000 78,000 213,000
= 32,500
& 9,750
Al 22,750
01 Al 22| 65,000 78,000 213,000
ZNT P EARS OEA 2A
65,000,000& * 14 65,000
= 32,500
& 9,750
Al 22,750
301 LetE2d= 33,000 30,000 3,000
= 16,500
& 4,950
Al 11,550
14 J|Et2d= 33,000 30,000 3,000
OAP QIZ=0} OHE A 2IA] XIS
33,000,000& * 14 33,000
= 16,500
& 4,950




SN FSAEL
HY: A2 SE(SUHYL/ S - SE)
Pl /S8 (crol: ®al)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| Al 11,850
(E)stMERSTEMNE XA 246,670 265,600 18,930
= 74,000
Al 172,670
307 212t01 ™ 246,670 265,600 18,930
& 74,000
Al 172,670
02 I B AEE X 246,670 265,600 /18,930
Os42 S8 TEHE N 246,670
—S80BIY ZXSY
200,835,000 *141%80/100 160,668
= 48,200
Al 112,468
—L Sg=Edt TN XA
215,005,000 x 141%40/100 86,002
& 25,800
Al 60,202
(E) A SASHH L ALKIR 13,500 13,000 500
= 4,050
Al 9,450
201 28t=3| 13,500 13,000 500
= 4,050
Al 9,450
01 At22tel] 13,500 13,000 500
QUM st MY HA
13,500,000 %14 13,500
& 4,050
Al 9,450
(E)sESMIRS) IS2EeAI 49,000 53,900 24,900
= 14,700
Al 34,300
307 212t01 & 49,000 53,900 24,900
= 14,700
Al 34,300
02 QIZHHAAIEE X 49,000 53,900 24,900
Osttg MHIRrSIIs 243t
70,000, 000& *14/%70/100 49,000
& 14,700
Al 34,300
(D) sASSEZUHAT DAY 186,000 174,000 12,000
& 37,200
Al 148,800
402 BIZtAH=01 M 186,000 174,000 12,000
= 37,200




2A:
T ZH -
o /e

cH):

Aot/ 5 - 5

Ul

HEE

2A - 3 - H(SH) - MRAY - BAS Ol ArH Ol Ak ot Hnsz2
Al 148,800
02 DIZFRHEAS B X (01T ) 186,000 174,000 12,000
OblEsAE 5241 JD A
310,000, 0002 *141%60/ 100 186,000
[ 37,200
Al 148,800
BES EEEREENEGEERE)) 695,000 214,200 480,800
[ 496,000
Al 199,000
402 DI2HAH=20( & 695,000 214,200 480,800
[ 496,000
Al 199,000
02 DIZFRHEAIS B X (01 E T S) 695,000 214,200 480,800
OsASMASS)|BIRS
999,000, 0002 *1A1%69. 5695/ 100 695,000
[ 496,000
Al 199,000
AZ M2 ML 99,165 33,580 65,585
307 QI2HOI& 99,165 33,580 65,585
02 DIZEHAAIRIE X 99,165 33,580 65,585
Ozt (S8t 2ESIE Al XIR(BES 50%)
27,165
— MY 31621%80, 000kg*50/ 100 12,640
—0fset 8321x350, 000kg*50/ 100 14,525
OZHAIZGIHE FFAIL SoHIE XY (EES 50%)
144,000, 0002 *141%50/ 100 72,000
I ESAIE (LD DM /ABIEHE) 901,000 1,069,000 168,000
[ 67,200
Al 833,800
2HEADE 901,000 1,069,000 A 168,000
[ 67.200
Al 833,800
SEME GBI 357,000 369,000 A12,000
301 LBE A2 150,000 150,000 0
14 J|Ef2 A2 150,000 150,000 0
OY= SEME 2222H| X (BES 50%)
20,000,0002*153]%50/100 150,000
307 QI2H0|& 207,000 207,000 0
02 DIZFHAIAIRIE X 207,000 207,000 0
Otlie d==22 =8 XA (BXS 50%)
240,000, 0002 *1A1%50/100 120,000
OBHRAAIZ HE =228E XA (BEE 50%)
100,000, 0002 *141%50/ 100 50,000
OBl HIZLIA £EAES| K(EES 70%)
28,571,0002*141%70/100 20,000




2AM:

NN DS N (QUTTeE/LusE)
ool IHSAWE (cHol: M)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OB= SrslE e +E20 BR8N A
(BXE 70%)
24,285,000 *141%70/100 17,000
(Z)sAE2UHAEERA 30,000 20,000 10,000
& 9,000
Al 21,000
307 SI2t01 & 30,000 20,000 10,000
& 9,000
Al 21,000
02 CIZHEAAIRIE X 30,000 20,000 10,000
OsAE 2= X2
30,000,000 *14] 30,000
= 9,000
Al 21,000
g & B2 320,000 280,000 40,000
307 QI2H0| M 320,000 280,000 40,000
02 QIZHBAANSBEE 320,000 280,000 40,000
O=&)|d ol FHuR &l XNA(BEE 80%)
25,000, 0002 *141%80/100 20,000
OZFAl 2 sSLE e 2zl IHEd X
(BxE 80%)
25,000, 0002 *3%/*80/100 60,000
OZFAl 40| S& 2 2435 X3 (BX2 80%)
20,000,000 *15J1 A*80/100 240,000
(2)IIB=sMES-EZ M HL 48,000 0 48,000
& 14,400
Al 33,600
402 QIZHERHE01A 48,000 0 48,000
& 14,400
Al 33,600
02 QIZENEAMLE R (01X M) 48,000 0 48,000
OIS=s48 8334 N0 A
80,000, 0002 *141%60/100 48,000
= 14,400
Al 33,600
(D)rEsAEEHEHMEH D 16,000 0 16,000
& 4,800
Al 11,200
307 SI2t01 & 16,000 0 16,000
& 4,800
Al 11,200
02 QIZHEAAIRIE X 16,000 0 16,000
OE=48 B ZHY M A
20,000, 0002 *141%80/100 16,000
= 4,800




2AM:
M INSHEH
C|—0| : —_.-XX-HE/\I-DL_,EF

HEE

SA - H - BRI(EH) - HRAY - BaS Ofl ke e HI DS
| Al 11,200
(C)+=EsASHEEH D 130,000 0 130,000
LS 39,000
Al 91,000
301 2N 130,000 0 130,000
& 39,000
Al 91,000
14 J|Et2 = 130,000 0 130,000
OFEsAS AHY ML A
1,000,000 %1304 A 130,000
& 39,000
Al 91,000
sHE ARS(sEilsi/ 5 - s&) 700,000 200,000 500,000
& 500,000
Al 200,000
RZ=IHE D= 700,000 200,000 500,000
& 500,000
Al 200,000
(E)sENYSAIAFL MEIIS(HEAID) 700,000 0 700,000
LS 500,000
Al 200,000
402 212tA201H 700,000 0 700,000
LS 500,000
Al 200,000
02 BIZAHE ARG 2 (01X THSA) 700,000 0 700,000
OsENA=SE LS RAE
1,000,000, 0002 *141x70% 700,000
& 500,000
Al 200,000
EZ0PIE (st =g - sE) 1,975,600 1,873,782 101,818
= 3,750
Al 1,971,850
sSit2 g% 1,975,600 1,873,782 101,818
& 3,750
Al 1,971,850
HEHEEY 468,600 400,482 59,118
101 I124H] 303,600 119,882 183,718
04 JIZtHI22NHESE s 303,600 119,882 183,718
OUTAl HEOE FAl sSat= HilY 2823
2,300,000+ 11122 303,600
201 €etEas| 125,000 289,600 A164,600
01 At22tel] 125,000 289,600 164,600

95,000




2N SEXD
HH: S0P (SYHYSL/ S - 5E)
TPl SSMZ 2R

= = — PSIE|
2AM -3 . H2(3H) - MRAEY - BES 04| AroH ‘Oﬂ,‘;o% Hns2
-2 (&Hl, 28, X, o= 5)
6,000,000&*12& 72,000
—ES2SE M&(2HE, HiY, 228 S)
400,000&* 1094 2 4,000
—E8 HEEE FYU(EA, A& S)
400,000&*109H 2 4,000
—=8 U XOESHAIR ATZEI P2
1,000&*1,0000H*10IH 2 10,000
—o=Eg I 7Y
5,000,000&* 14! 5,000
OSES sSAE JEY Ax=E
2,500,000&*123] 30,000
301 YBBAEZ 40,000 0 40,000
14 JIEI2 A2 40,000 0 40,000
OUSZAl CHEHOIE W The &= Y 22EH=S
AL XI& 40,000,000 %14l 40,000
SSN=E B8 280,600 238,600 42,000
201 LBt2dH| 160,600 102,600 58,000
01 AFR22t2IH| 128,000 72,000 56,000
OIHHE SN 290 2 22 78
100, 000&*303 3,000
OOIHNESEHH &1 Xtz
600,000 +1CH*3032 18,000
OOIDI0IE Y=6t2 m=EAL ELZ0HE
15,000,000& * 14 15,000
OsSHE E28A XId 2 29 52,000
—SSAE SEHAIA AL - AISE SSAE 7Y
500, 000&*303 15,000
—SEAS ZESIAL JAIME A
2,500,000 *24] 5,000
—SEAS JTEAL HAIZE 7Y
100,000 *3&]* 10K 3,000
—SSANE AL L TAITE ERZE HEF|
500&*6, 0000H 3,000
—SSENE HEE Y &89 HE(014:, At
B, &) 1,000,0002%34] 3,000
—SSANE BEE J|IX 78
3,000,000&* 14! 3,000
—SSAE SH & NEEAIE AZE KA
1,000& *10, 0000H*24] 20,000
OSEA2 AlRIX EEZAS ME 2 =2
20,000,000 *23| 40,000
02 32494 7,600 5,600 2,000
OsSie E2808 M2
50,000&x 1A+ 12& 600
OsSEA2 208 LIE%
5,000,000 =14 5,000




A RS
M SREIPIE(SHHLT/ S - 5E)
gel: sSiE B8 (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OFGFAl sS4 FABNEY SNES
2,000,000 %14 2,000
03 SAr2 Y| 25,000 25,000 0
OUZAl SSA2 MEHE AL
12,500,000&%23] 25,000
307 QI2H0IA 120,000 136,000 16,000
02 IZFAAIAIRIE X 120,000 136,000 16,000
OZF=Saz 24 B X (2XS 80%)
25,000, 0002 *6IH A*80% 120,000
MM 22 980,000 970,000 10,000
301 LetEAZ 520,000 520,000 0
14 JIErE A2 520,000 520,000 0
o220 IFFY ALS SoIX
250,000, 000& %23 500,000
OYFAEXS SN L T224
5,000,000 %43 20,000
308 XFXISHHISOIA 460,000 450,000 10,000
13 2|2 SOCHEFH AT Q{EAIZ Y] 460,000 450,000 10,000
OZFAl SS42 22101 DHIE ArY
460,000,000 % 14! 460,000
SSASTTHAXA 151,900 166,200 214,300
201 LBr=2 Y| 86,900 81,200 5,700
03 A2 2| 86,900 81,200 5,700
OB sSAt2 BRAL JhE 86,900
—daMER 5,000,0002 % 1404 4 70,000
—ARZ (Y, 2E S)
200,000 %32H 6,400
—BH0H(HA Y BE)
60, 00024%25J4 1,500
—HAIRE(FAl L AlY &)
500,000 *65*33] 9,000
301 YBHEXZ 5,000 5,000
11 A X2 5,000 5,000 0
OBE sSAre DAL HE 5,000
—EZEA BXH
100,000 %105 5,000
307 QIZH0IA 60,000 80,000 20,000
02 DIZEAANAIRIE X 60,000 80,000 20,000
OIYLRE DN&Fcet BLHE I AL(2X8
ZH) 6,000,0002+ 1042 60,000
SAEEME XA 57,000 47,000 10,000
307 2I2t0IA 57,000 47,000 10,000
04 QIFBHAIAFE X 57,000 47,000 10,000
OIJIOIE F=Et2ER AHIEX #AHEZE 50%)
20,000, 0002 *33]%50% 30,000




SA: REXAD
HM: S2OPIY (SN =Y - 5F)
ool sSME 82 (CH: ®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OUTAl G2 AHIEX HAHEXS 50%)
20,000, 0002 *23|*50% 20,000
OZUEH SA2 AHIESX HAHBZES 80%)
4,375,000 %25 *80% 7,000
(E)sAZ2UHEEX R 12,500 17,500 25,000
[ 3,750
Al 8,750
307 212+0|& 12,500 17,500 5,000
[ 3,750
Al 8,750
02 QIFAAAIRIE R 12,500 17,500 5,000
OsAEZUEEXA 2,500,000 %53 12,500
[ 3,750
Al 8,750
W+EST ALY 25,000 25,000 0
201 L2 A 5,000 5,000 0
02 222 5,000 5,000
OADZ=AR AIBZLEOIE 293
5,000,0002 13 5,000
307 2I2H0| & 20,000 20,000
02 QIFAAAIIE R 20,000 20,000 0
OZEAL EB22E IY(BEE8 W)
20,000,000 %13] 20,000
HUC S (s2HLSM/ =Y - &) 806,500 628,260 178,240
[ 12,870
Al 793,630
SEAZS BC i 806,500 628,260 178,240
[ 12,870
Al 793,630
Qe ZEAS BYC oIz 61,800 63,560 1,760
201 L2 61,800 63,560 1,760
01 AF222IHI 61,800 63,560 1,760
OSAIHE ALI0IZ0IT AFSSHE(ALD, 014, 8t2)
17,000,00024+3% 51,000
OXIETAAE S22 2 AXAER
500,000 %205 10,000
OSSAZ2 BUE AR AR5 EALy
100,000R1*82* 13 800
TR A ALY 701,800 518,800 183,000
307 2I2H0| & 701,800 518,800 183,000
02 QIFAAAIIE R 701,800 518,800 183,000
OZJ|ola IETY ME X (2ES 40%)
1,00021%200, 0000H*40% 80,000




A FSXEL

HE: HUHC P (SN USA S - SF)
S SSEAIZ BHE Y (che]: X Sl)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OYFAl LL=SNE HHARI ZAY X2
(BXE 40%)
1,2502%x205+7 , 52001 *40% 75,200
OsEAZ ZE(SR) BUE TR NY(EXE
40%) 761,500, 0002 * 141 %40% 304,600
OsEME ZS(SE) BUE TR NY(BXE
40%) (A2 E2Ar)
250,000, 0002 *1A1%40% 100,000
OYZAl 0N SUE TR KR(SXS 40%)
1,000 %2Z %25, 00001 *40% 20,000
OYZ=Al DER D0} - OF TR KN (BES 40%)
1,2502%2Z %16, 00001 *40% 16,000
OABlA 22 0 =50+ TR MZ X
(BXE 40%) 1,250 %40, 0000} *40% 20,000
OZJ(0l4 PRE ZAT ME X (BXE 40%)
1,25021%80, 00001 *40% 40,000
OYZAl E20F T X(EXE 40%)
1,50021% 10, 00004 *40% 6,000
OYZFAl ARRIHAZN TR XI2(EXS 40%)
1,20021%25, 00004 *40% 12,000
OYZAl DEE 22 TR KA(BXE 40%)
1,40021%50, 00001 *40% 28,000
(2)IE 24542 2UCF 10,000 20,000 210,000
[ 3,000
Al 7,000
402 BIZFXHE0IH™ 10,000 20,000 A10,000
[ 3,000
Al 7,000
02 QIZHRHE A 2 X (01 TH ) 10,000 20,000 A10,000
OZFE D4e=A2 BUCES ALY
20,000, 0002 % 17H A*50% 10,000
[ 3,000
Al 7,000
() HAXAB=2HESY X 32,900 25,900 7,000
[ 9,870
Al 23,030
307 212+l 32,900 25,900 7,000
[ 9,870
Al 23,030
02 DIZFHAAIIE X 32,900 25,900 7,000
OonaEgeEsAx
47,000,0002 % TAIx70% 32,900
[ 9,870
Al 23,030
AHSS(SBHLSL/ Y - 5F) 234,800 234,800
A= PR 234,800 234,800




2AM:

F M

Sl g=ae (ol M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
FE=EIEINE] 234,800 234,800

301 LEEXAS 218,000 218,000
14 J|EI2 A3 218,000 218,000 0
OY=M ElfiH| X (EXS 40%)
4,0002%30,00024*40% 48,000
OAZ2H AXH| X(EXS 50%)
34,0002%10,000E*50% 170,000
307 212+0|& 16,800 16,800 0
02 DIZFHAIAIIE X 16,800 16,800 0
OYZ=M el IR HE KN (EXS 40%)
1,5002%28, 0000H*40% 16,800
SAZMARH (SEHLSN/ 5D - SE) 2,085,171 2,155,376 A120,205
[ 310,130
Al 1,725,041
st Al 2,035,171 2,155,376 A120,205
[ 310,130
Al 1,725,041
EmI=INPNE] 435,620 444,166 8,546
307 2I2H0| & 216,957 216,957 0
02 QIFAAAIRIE R 216,957 216,957 0
OZAIZtA!l NAI(EEE FHH)
1,30021%5, 563 %303 216,957
308 AHXISHHISO0IA 218,663 227,209 8,546
08 WSJ|Z0CHEIEE 218,663 227,209 8,546
ORI 0I5 A8 2442 2YUH| X
21021%650H * 180! 24,570
ORI 234! X
194,093,000 * 14! 194,093
(B EEEEINCEImE=NNE 1,528,151 1,640,794 AT112,643
[ 305,630
Al 1,222,521
307 212+0|& 1,491,466 1,603,096 A111,630
[ 298,293
Al 1,193,173
02 DIZFHARAIIE X 1,491,466 1,603,096 A111,630
OFsA=AE SHI2A! (I (SSAE)
1,491,466,00021%14! 1,491,466
[ 298,293
Al 1,193,173
308 RHXISHHISOIA 36,685 37,698 A1,013
[ 7,337
Al 29,348
08 WI|ZCHEHE X 36,685 37,698 A1,013
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2N SEXD
B SAZMNUSH(DS/Q0LESSLS)
S SusSA (CHol: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
< 307, 131
Al 716,639
08 W[ ZOHEEE 1,023,770 1,147,860 A 124,000
OZZ1 2434
1,023,770,0008 14! 1,023,770
= 307, 131
Al 716,639
SESSFAY JHEE(SHYLL M/ Y - 5F) 486,472 574,529 88,067
=2 3,100
= 120,504
Al 362,868
6AHE T4 486,472 574,529 88,057
=2 3,100
= 120,504
Al 362,868
BRI BRAY 1,400 1,400 0
201 Yer2g| 1,400 1,400 0
01 AFR22IH] 1,400 1,400
OBRHAY AIHIZA 201 S
1,400, 000! 14! 1,400
SEHE0SXE 70,448 83,641 ~13,193
301 YerEEZ 3.960 3,960 0
11 SAIHIXIR S 3.960 3,960 0
SENEEA0IE ALY - A2F DS Ot
90,0002 *82*23 1,440
OEtel SZHEEA0IS Bolsl &4 o]
90,00024+82*13 20
OSZNBEAS NASH 20! X
900,0008/x23] 1,800
307 21201 66,488 79,681 ~13,193
02 EIRIFAAIYER 61,538 74,731 ~13,193
OSEMSEL0IS APE WENA(2XE 704)
2,061,0008+32 128 +70% 51,938
OSEHEEA0IS SEZZS0(2EE 80%)
600, 00021+ 107 #2351 %80% 9.600
04 BIRIBAAIR B E 4,950 4,950 0
ORAE NS HHSE(2XS 90%)
5,500, 0008+ 13/%90% 4,950
eI 8.500 8.500
402 SI2EXH=0I M 8.500 8.500
01 BIIAFZA 2 X (KHAITH R ) 8.500 8.500 0
OsoiZals 225 NA(2XS 50%)
3,400, 00084574 250% 8.500
(S)6RA AL RS SBN S 31,200 28,800 2,400
= 9,360




EM SN2
M SESEFAY JPEE(SYNYSL/5Y - 5F)
ol BRI =Y CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 21,840
307 212t01& 31,200 28,800 2,400
= 9,360
Al 21,840
02 SIZFIAAIIEE 31,200 28,800 2,400
OBXHAIY A HE A5
39,000,000 x80% 31,200
< 9,360
Al 21,840
(2)XE = CEOLED B 2EAY 36,000 108,000 272,000
< 10,800
Al 25,200
402 SIEXHE01A 36,000 108,000 AT72,000
= 10,800
Al 25,200
02 QIZHH2 AT 2 (01X THA) 36,000 108,000 A72,000
OXNS =g CE0 &I A=A
60,000,000 *141+60% 36,000
< 10,800
Al 25,200
(B)c=UREHSIR 25,000 100,000 275,000
< 7,500
Al 17,500
307 212+0|& 25,000 100,000 275,000
= 7,500
Al 17,500
02 RIHEAIAHE X 25,000 100,000 A75,000
O&=2 LY s& 2& NE A
25,000,000 * 14 25,000
< 7,500
Al 17,500
(D)=sEdg2d 845t 12,300 12,000 300
< 3,690
Al 8,610
201 EH2EH| 7,020 9,200 22,180
= 2,106
Al 4,914
01 AlR-2teld 7,020 9,200 N2,180
OsZENgs2its g2z 29 & 24| 7,020
—823 3o 24| 840,0002/%33] 2,520
= 756
Al 1,764
—=E22E MF 4,500,000 %1 Al 4,500




SN RSAD
B SESZENY I BIRE(SYHYMY/5Y - 5E)
ol BRI =Y (CH: ®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 7,350
Al 3,150
01 LIEHS 3.280 2.800 480
= 984
A 2,29
TERETES 3.280 2.800 480
ONEBHAS 4 AT A8t Ol
70,00021+20 & *23] 2,800
= 840
A 1,960
ONEFA0I2 Bolal AT Al
8,000&*202*33 480
= 144
Al 336
307 212t01& 2,000 0 2,000
= 600
A 1,400
02 BIZHE A E L 2,000 0 2,000
OsEHEEY0E T208 2% N
2,000,0002%14] 2,000
= 600
Al 1,400
(2)=Z22FH =48 N2(2E 1Y 1F) 4,960 4,968 A8
2 3,100
A 1,860
01 ZerEE 4,960 4,968 A8
= 3,100
A 1,860
14 JIEtE 8= 4,960 4,968 A8
OsEHERYNS ZEIIANR
6,200, 00024+ 14A/%80% 4,960
2 3,100
Al 1,860
B EEENER e 84000 50,000 34,000
= 25,200
A 58,800
PRIEINENES 84,000 50,000 34,000
= 25,200
A 58,800
02 QIRIXFEAIE E (01X THR) 84,000 50,000 34,000
OBRHH S HIZ WA RI
168,000, 0002H+50% 84,000
= 25,200
Al 58,800




2N RS

M E=SSEY JItEE(sEigdsd/ s - s&)

ol BRI =Y (CH: ®2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
(Z)sEMESL0IS MR2E HEXH 103,872 0 103,872

= 31,158
Al 72,714
307 eI2+o| & 103,872 0 103,872
& 31,158
Al 72,714
02 CIZHEAAIRIE X 103,872 0 103,872
OsEMEs20lE AIRE HEXJ
103,872,000 * 14| 103,872
& 31,158
Al 72,714
(Z)sEDEMEIAHM IS R 0 7R
== 3%
Al 396
201 2RI % 0 7R
== 3%
Al 3%
03 HAr2H| % 0 7R
Os&E018 MUIA MR
792,00024%14] 792
& 396
Al 3%
(ZD)=sEMES20E 2843t 108,000 0 108,000
== 32,400
Al 75,600
402 QI2EXH=0|H 108,000 0 108,000
== 32,400
Al 75,600
02 CIZEXI=2 AL B (0| M THS) 108,000 0 108,000
020249 s=EMEF A0S 2HEHS I8t 2=
K& A 120,000, 0002 * 14 %90% 108,000
& 32,400
Al 75,600
HESAZHI(SSXIA) (DIEHIIE 78,956 81,784 A2,828
JlE2&| 78,956 81,784 AN2,828
J|12&l 78,956 81,784 AN2,828
201 eI 23,276 22,144 1,132
01 AtR2t2ld| 23,276 22,144 1,132
O=AMEX 72 20,0002+ 138+ A% 122l 3,120
OSZ20HAld] 8,000 +7A1x 133122 8,736
Ogetez 100,000 * 12 1,200
OARE EATLHI 50,0002 *12& 600
OAR2 =&l 8,060




SA: RS
HM: HYSARH|(RKEX D) (DIEHIIEH
&e: J|E238h| (cHol: M)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
—=A0| =2 1,000, 00021 CH 1,000
—ZeglE =cl 100, 00024 *4CH*50% 200
—SAP| EYH 200,000 %53 1CH 1,000
—TElH EU(EH
200,000 %53 =4 CH 4,000
—O2IH EH(Z)
200,00024%55]*1CH 1,000
—PC =l 100, 000 * 13CH*20% 260
—JIE 22/t] 50,0002* 122 600
OJ|EF AFR2EIH] 10,0002+ 133 * 12 1,560
202 Ot 51,480 55,440 3,960
NENED 51,480 55,440 3,960
O OIHI 20,00021% 13 * 122U * 122 37,440
O2r2101| 1200002 %132+ 14,040
203 YREEH| 3,000 3,000
04 BA2AARETIH| 3,000 3,000 0
OFN=IERF4| 250, 00024+ 122 3,000
204 R RaEAH| 1,200 1,200 0
01 ZUZ AR AH| 1,200 1,200 0
OXHZARLHAH|(SEXADE)
100,000+ 18122 1,200




